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For the functions f(x)= —x+4 and g(x) =x" -2,

A Graph fand g on the same Cartesian plane. and shade the region for i Vicw on Biom
which £(x) > g(x). that is, the region below f and sbove g.

|| B. Solve f(x) =g(x).

C. Use the result of part B to label the points of intersection of the graphs
offand g.
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A. Choose the correct graph below.
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B. The solutions to f(x) =g(x) arex= —32.

(Use a comma to separate answers as needed.)

o

C. The points of intersection are (—3, 7) and (2, 2).

L Question is complete. @

All parts showing
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Homework: HW1 - Chapter 3

For the fimctions f(x) = —x+4 and g(x) =x° -8,

A. Graph fand g on the same Cartesian plane, and shade the region for
which f(x) > g(x). that is, the region below f and above g.

B. Solve f(x)=g(x).

C. Use the result of part B to label the points of intersection of the graphs
of fand g.

A The graph of f(x) = —x + 4 is a line with the
slope m= —1 and y-intercept (0, 4). The graph of
g(x) =x’—§is a parabala Tt is the graph of y=x7
shifted down & units. Graph f and g on the same
Cartesian plane and shade the region below f and
above g The correct graph is shown on the right.
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B. Set f(x) =g(x) and solve the resulting equation for x.

—x+4 = xi-g
Hrx-12=10
(x+4) (x-3) =0

Setting each factor equal to 0 separately and solving for x vields the solutions x= —4 and x=3.

| Question is complete.

All parts showing
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Homework: HW1 - Chapter 3

For the finctions f(x) = —x+ 4 and g(x) =x> -8,

A, Graph fand g on the same Cartesian plane, and shade the region for
which f(x} > g(x). that is, the region below f and zbove g.

B. Solve f(x)=g(x).

€. Use the result of part B to label the points of intersection of the graphs
of fand g.

C. The x-coordinates for the points of intersection were found in part B. To find the y-coordinates, substitute each of the x-coordinates back into one of the given functions, f or g, and simplify. We will use the
linear function First, substinate x= — 4.

1

fx) = —x+4
(-4 =-(-49+4
=38

Therefore, the first point of intersectionis { — 4, 8).
Next, substitute x =3 into the linear function and simplify.
fx) = —x+4
f(3) = - ()4
=1

Therefore, the second point of intersection is (3, 1).

L Question is complete.
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